
?´¨� ö�ÆØþ ýÀ÷��� ý�þ�ø¥ ��Þ� �÷�ð ��Àî ¤¢ (1
CH3OH (¢ CH3CH = CH2 (� HN3 (� NH4Cl (Óó�?´¨� ���Èõ �÷�ð ø¢ ��Àî ¤¢ öÄ�Æî� Çþ�Æî� ¢Àä (2

Li2O , NO+2 (¢ CO2 , KO2 (� OCl2 , OF2 (� ClO−2 , H2O2 (Óó�?´¨� ö�ÆØþ �ûÀ÷��� ý�Þû ñ�Ï ,Âþ¥ ý�û�÷�ð ¥� ¢�Àã� �� ¤¢ (3
SO2 , O3 , HN3 , H2O2 , NH3 , N−34 (¢ 3 (� 2 (� 1 (Óó�ý�Î¡ .¢�Þ÷ ö¥ø ´¨� �Âð 0/0012 ö� ´ì¢ �î üþø¥�Â� �� �¤ Âþ¥ Ûõ�î Ç�î�ø ý�Â� �¥� ß�Âî ¥�õ�Ç÷�¢ ×þ (4?´¨� ��Àî ñ�õ °Æ�Â� ùÀª À�ó�� À�Æî� (II)�Â¨ ¤�ÀÖõ ¤¢ ßþ¥�� ßþ� ¥� Û¬��

Pb3O4(s) + C(s) −→ PbO(s) + CO(g)2× 10−4 (¢ 1 × 10−4 (� 9× 10−4 (� 3× 10−4 (Óó���¤£ ÂÎ¡ °þÂ® Âð� .Àª��üõ 50µg/m3 ��û ¤¢ 2/5 µm ¥� Â�Ç�� ´õ�¿® �� �þ¤ ��¤£ ü÷�ú� ¢¤�À÷�µ¨� (5?¢�ªüõ �ûÇª ¢¤�ø ´¨� ��û 0/5 L ¢øÀ� Ûõ�ª �î ÅÔ�� ¤�� Âû ¤¢ �þ¤ ��¤£ ßþ� ¥� �ÂðøÂØ�õ À�� ,Àª�� 0/85 ýø�Æõ�þ¤ 25 (¢ 21/25 (� 2/125 × 10−2 (� 0/025 (Óó�:Ç�î�ø ×þ ö���ä �� BaCl2.2H2O ∆
−→ BaCl2 + 2H2O Ç�î�ø (6.´¨� ù¢�õÂð ø �þ�¹� (� .´¨� Â�ð�õÂð ø �þ�¹� (Óó�.´¨� ù¢�õÂð ø �÷�Úþ üþ������ (¢ .´¨� Â�ð�õÂð ø �÷�Úþ üþ������ (�?¢¤�¢ ý¤�µ¡�¨ Âõø�þ� À�� C4H8Br2 ý�µÆ� ñ�õÂê �� ü±�îÂ� (78 (¢ 6 (� 2 (� 4 (Óó�?´¨� ´¨¤¢ À÷��� ý�û�þø�¥ ý�Æþ�Öõ ��þ�ð ��Àî ¤¢ (8

O3 = CO2 (¢ SO2−4 > ClF+2 (� BCl3 = PCl3 (� IO−2 > SCN− (Óó�?´¨� ´¨¤¢ üþ��Þ�ª °�îÂ� ��Àî ��÷ (9À�Æî� ¤���Üêý¢ : OF2 (¢ ÀþÂÜî (III)ÂÔÆê : PCl3 (� ö�ø¤À�û À�õøÂ� : HBr (� ÀþÂÜî Àþ : ICl3 (Óó�?´Æ�� ý¥�¨�µ¿ó °±¨ ø ¢�ªüõ ù¢�Ôµ¨� ùÀ��î �µ¿ó ö���ä �� Âþ¥ ý�ûö����î �ä�Þ¹õ ��Àî ¥� (10�� ¤¢ ¢���õ ý�ûö��÷� �� ��¨¤ Û�ØÈ� , Al3+ ø Ba2+ (� ýÀ���Üî ý�ûù¤£ üØþÂµØó� ¤�� ö¢Âî ü·�¡ , Fe2+ ø Ca2+ (Óó��� ¤¢ ¢���õ ý�ûö��÷� �� ��¨¤ Û�ØÈ� , Ca2+ ø Mg2+ (¢ ýÀ���Üî ý�ûù¤£ üØþÂµØó� ¤�� ö¢Âî ü·�¡ , Fe3+ ø Al3+ (�?¢�ªüõ ù¢�Ôµ¨� Âþ¥ ý�ûù�¤ ¥� ×þ ��Àî ,üð¢¤�¡ ¥� ßû� ´Ñê�½õ ý�Â� (11âÜì �þ �øÂî ,ýø¤ À�÷�õ üþ�û�Üê �þ ü�Â� ,Ù÷¤ ¥� ý��þ� �� ßû� ¼Î¨ öÀ÷�ª�� (Óó�×�õ�Â¨ ��ãó �� ßû� ¼Î¨ öÀ÷�ª�� (�
Ni , Cr , C Â�Ñ÷ ýÂ¬��ä �� ßû� ö¢Âî ���ó� (�¢¤�õ �¨ Âû (¢



ß�Âî �� �î ¢�ªüõ ù¢�Ôµ¨� ¢ø¤üõ ¤�î �� �ûý¥�¨Ç�� ¤¢ �î üÆÔ�� ý�û×¨�õ ¤¢ ��Þãõ À�Æî�Â� ÝþÀ¨ ¥� (12Âû Âð� Àû¢üõ Ç�î�ø À�Æî�Â� ÝþÀ¨ �Âð 80 �� ��û Âµ�ó À�� .À�îüõ À�ó�� öÄ�Æî� ø ����ÂîÝþÀ¨ ø ù¢�¢ Ç�î�ø �¢¥��À�Æî�ý¢(C = 12 , O = 16 , Na = 23) ?Àª�� À�Æî�ý¢ ß�Âî �Âð 0/072 Ûõ�ª ��û Âµ�ó
Na2O2 + CO2 −→ Na2CO3 +

12 O21011 (¢ 1254 (� 627 (� 314 (Óó�?´¨� ´¨¤¢ Âþ¥ í���þ� ý�û��÷ ¥� ×þ ��Àî (13ö��Úû Û��� � 3 � Û�µõý¢ � 4,4 (� ö�µ�� Û�µõ � 4 � Û��� � 2 (Óó�ö��Úû Û�µõ � 2 � Û��� � 4 (¢ ö�µ�� Û��� � 4 � Û�µõ � 2 (�?´ê�þ ö���üõ ý¤�µ¡�¨ Âõø�þ� À�� Âþ¥ ¤¢ ùÀª ù¢�¢ ö�È÷ ý�û¤�µ¡�¨ ß�� ¥� (14
5 (¢ 4 (� 3 (� 2 (Óó�?´¨� �÷�ð�� Ýû �� ´±Æ÷ Âþ¥ ��±�îÂ� ©�� ý�ÎÖ÷ (15

B > A > C (¢ A > B > C (� B > C > A (� C > A > B (Óó�?Àû¢üõ ö�È÷ ´¨¤¢ �¤ °�îÂ� ¤¢ ¢���õ üÜõ�ä ý�ûùøÂð ��þ�ð ��Àî (16
ö�µî ø À�ûÀó� (¢ ÛØó� ø Â�� (� Âµ¨� ø ÛØó� (� Â�� ø ö�µî (Óó��� ¢�Àã� .Àª��üõ % 43/2 ö� ö¥ø Çû�î ö���õ ;Ý��îüõ ×È¡ Ûõ�î ¤�Ï �� �¤ ¤�Ü±µõ ��Ôó�¨ ÝþÀ¨ ý¤�ÀÖõ (17(Na2SO4 = 142) .À��î �±¨�½õ �¤ ¤�Ü±�10 (¢ 8 (� 6 (� 7 (Óó�?´¨� ü±Îì ñ�Øó�õ ��Àî (18

BF3 (¢ CS2 (� SO3 (� CH2I2 (Óó�



?´¨� üÜ�Æê ý�û´¡�¨ ¥� üµ¨¤¢�÷ Ó�¬�� ¢¤�õ ��Àî (19.À�µÆû ÂþÁ�ÀþÀ¹� â���õ (Óó�.À�µÆû ùÀª ùÂ�¡£ ýÀ�ª¤�¡ ý�Â÷� üä�÷ (�.À��îüõ ß�õ�� �¤ ÂÈ� ¥��÷ ¢¤�õ ý�Â÷� % 90 ¢øÀ� (�.´¨� ùÀõ� ¢��ø �� ñ�¨ �ûö��Ü�õ üÏ ¤¢ ö�û��ð ø ö�¤�÷�� ý�þ�Ö� öÀª Û�Æê ¥� (¢¤¢ ý��ÎÖ÷ � öøÂµØó� ñÀõ ´þ�ä¤ �� .¢¤�¢ ¢��ø N −N �÷�Úþ À÷��� ø¢ ø N ≡ N �÷�ð�¨ À÷��� ø¢ [N5]n ö�þ ¤¢ (20?´¨� ��Àî n ¤�� ,ö�þ ßþ�
−2 (¢ −1 (� +2 (� +1 (Óó�?´¨� Â�Ç�� �Þû ¥� üþ��Þ�ª °�îÂ� ��Àî ý�Ø±ª ý�Â÷� (21(Àõ��) MgF2 (¢ (Àõ��) AlF3 (� (Àõ��) NaF (� (¥�ð) SiF−4 (Óó�?´¨� ´¨¤¢ 4p üÞ�� ñ�µ��¤ø� ý�Â� üõ�µ÷��î ¢�Àä� �ä�Þ¹õ ��Àî (22

ms ml l n+1/2 0 2 4 (Óó�+1/2 0 0 4 (�+1/2 2 2 4 (�+1/2 0 1 4 (¢?À�µÆû ö�ÆØþ ¢¤�õ ��Àî ¤¢ (D2O) ß�Ú�¨ �� ø (H2O) üó�Þãõ �� (23üó�Ú� (¢ �ûöøÂµØó� á�Þ¹õ (� �ûöøÂ��÷ á�Þ¹õ (� ¢�Þ¹÷� ý�ÎÖ÷ (Óó��÷�õ�¨ ��Àî Óþ¢¤ ¤¢ ´Æ�÷ ßØÞõ ö� �� �õÂð ø ù¢�õ ý�ó¢�±õ �õ� ´¨� Ýû�Âê ö� �� ¤�î ý�ó¢�±õ ö�Øõ� �î ý��÷�õ�¨ (24?´¨�´��� Ý¹� (¢ �µÆ� (� ýø��õ (� ¥�� (Óó�13/8 ¤¢ ¢���õ À�Æî�Â� ö�ø¤À�û �� Ûõ�î Ç�î�ø ý�Â� ���Ú�õÂ�Ý �¨�µ� 0/105 M ñ�Ü½õ ¥� Âµ�óüÜ�õ 43/2 (25?´¨� ��Àî ùÀ��îÀ�Ô¨ ßþ� ¤¢ À�Æî�Â� ö�ø¤À�û ü÷¥ø À¬¤¢ .´¨� ùÀª éÂÊõ �õ ýùÀ��îÀ�Ô¨ ×þ ¥� �Âð(H2O2 = 34/02)2KMnO4 + 5H2O2 + 3H2SO4 −→ 5O2 + 2MnSO4 + K2SO4 + 8H2O0/45 (¢ 2/8 (� 38/6 (� 1/13 (Óó�öÀ� ¥�¨ ø ´¡�¨ ý�ûÇ�î�ø Ý�Ñ�� ¤¢ ø ùÀª À�ó�� À��øÂ�� ¤¢ �î ´¨� ü÷�õ¤�û (C15H11I4NO4) ß�ÆîøÂ�� (26¤¢ ß�ÆîøÂ�� ü÷¥ø À¬¤¢ ,¢�ª Û¬�� (I2) Éó�¡ Àþ �Âð 0/037 ,À��øÂ�� �Âð 0/4432 ý�þ�¹� ¥� Âð� .¢¤�¢üÞúõ ÇÖ÷(C15H11I4NO4 = 776/8 g/mol) ?´¨� ��ÀîÀ��øÂ�� 12/87 (¢ 4/29 (� 3/22 (� 6/44 (Óó�



ý�ûñ�Øó�õ À��î ­Âê .´¨� 3/68× 108 km2 �ûö� Ûî ´��Æõ ø 3/8 km ß�õ¥ ý�û§�÷��ì� ß�Ú÷��õ ÕÞä (27�¤�¬ ßþ� ¤¢ .¢�ª Ç¿� ß�õ¥ ý�û§�÷��ì� ��Þ� �� ¤¢ ´¡���Øþ ¤�Ï �� C12H22O11 ñ�õÂê �� ÂØª �Âð�Ü�î 19¤¢ ¢���õ(.¢¤�¢ �Â� ÂØª �Âð 342 ÂØª ñ�õ 1) ?¢�� Àû��¡ ¢���õ �� 200 mL ý�¤�¢ �î §�÷��ì� �� ö���ó ×þ ¤¢ ÂØª ñ�Øó�õ À��48× 1011 (¢ 23916 × 109 (� 4800 (� 23916 (Óó�?´¨� ´¨¤¢ �õ¢ ÓþÂã� ¢¤�õ ¤¢ ��þ�ð ��Àî (28.´¨� ÝÆ� ý�õÂð ö�Þû �õ¢ (� .´¨� ÝÆ� ý�ûñ�õ ¢�Àã� ¥� ý¤��ãõ �õ¢ (Óó�.´¨� ÝÆ� ×þ üõÂð ö���õ ¥� ý¤��ãõ (¢ .´¨� üØþ Ýû �� ù¢�õ ��¤£ üÈ±�� ý�Â÷� ø �õ¢ (�
∆H .´¨� 250C ý�õ¢ ¤¢ ñ�õ Â� ñø��Ü�î 366 ø 431 � � Â��Â� °��Â� �� H − Br ø H − Cl À÷��� ü³ó�µ ÷� (29?´¨� ��Àî ñø��Ü�î °Æ� Â� ùÀª ù¢�¢ ý�õ¢ ¤¢ Âþ¥ ý�ó¢�ãõ Õ±Ï �¥� Cl(g) �� HBr(g) �Âð 1/62 ö¢�¢ Ç�î�ø ���µÆ��ø(Br = 80 , H = 1)

HBr(g) + Cl(g) −→ HCl(g) + Br(g)

+1/3 (¢ +65 (� −1/3 (� −65 (Óó�?´¨� Â�Ýî �Þû ¥� üþ��Þ�ª ý�÷�ð ��Àî ¤¢ Àþ Çþ�Æî� ¢Àä (30
IF (¢ ICl−4 (� I−3 (� ICl−2 (Óó�?´¨� Â�Ç�� �Þû ¥� °�îÂ� ��Àî ¤¢ �ûÝ�� á��÷� (31

Mg3N2 (¢ H3PO4 (� CaHPO4 (� K2MnO4 (Óó�¼ÎÆõ ¶Ü·õ Çþ�¤� �� ý�ûß�Âî �� À÷¤�¢ üÎ¡ Çþ�¤� �î ü��Âî ý�ûÝ�� ¢�Àã� ´±Æ÷ üþ��Þ�ª ý�÷�ð ��Àî ¤¢ (32?´¨� Â�Ç��
(CN)2C = C(CN)2 (¢ (CN)HC = CH(CN) (� H2C = C(CN)2 (� (CN)HC = C(CN)2 (Óó�?´¨� �ûö� ùøÂð ýù¤�Þª Â��Â� ¤¢ �ø¢ �ø��� ý�ûùøÂð Â¬��ä üðÄþø ��Àî Â��ç� ýùÀ�û¢ö�È÷ Âþ¥ ¤�¢�Þ÷ (33�ø£ ý�ÎÖ÷ (Óó�Ç÷�þ ß�µÆ¿÷ ý�Â÷� (�ý����Ú÷øÂµØó� (�üÞ�� á�ãª (¢?´¨� ´¨¤¢ °�îÂ� ��Àî üþ��Þ�ª ñ�õÂê (34

CoCl : ÀþÂÜî (II)´ó�±î (� Ca(ClO3)2 : ��ÂÜî Ý�ÆÜî (Óó�
(NH4)3N : ´þÂµ�÷ ���÷�õ� (¢ KCrO4 : ��õøÂî Ý�¨�µ� (�¤�Ü±� �� ��Þ� �� Ý��îüõ �Âð �¤ ¯�Ü¿õ ßþ� .¢¤�¢ ö¥ø 1/245 g ñ¢�ãõ CuSO4.5H2O ø CuSO4 ¥� üÏ�Ü¿õ (35?´¨� ��Àî ��óø� ¯�Ü¿õ ¤¢ ��� 5 ��Ôó�¨ (II)Åõ À¬¤¢ ,Àª�� �Âð 0/832 ùÀ÷�õüì�� �Â� Âð� .ÀûÀ� ´¨¢ ¥� �¤ ¢�¡(CuSO4 = 160 , H2O = 18)60/14 (¢ 51/08 (� 66/83 (� 92/15 (Óó�



?´¨� ü±Îì�÷ ñ�Øó�õ ��Àî (36
POCl3 (¢ CSO (� PCl3 (� CCl4 (Óó�?´Æ�÷ ÂÞ�Ü� ù¢�õ ��Àî (37ö�Üþ�÷ (¢ ×�µ¨�� (� ßÜ��� üÜ� (� ´Ô÷ (Óó�?À÷Â�ðüõ ¤�Âì Ýû ¤��î üó�Øó�õ ß�� ü÷�ø¤À�û À÷��� À�� Â·î�À� Û�ØÈ� �� Âþ¥ ��±�îÂ� (38

4 (¢ 3 (� 1 (� 2 (Óó�¢�Àã � Â ��Â � 1/5 , A ö�Ø ó� ý� ûö�ø¤À � û ¢�À ã � .À þ�ü õ ´¨¢ � � B ß�Ø ó� � � ö�ø¤À � û Ç�î�ø ¥� A ö�Ø ó� (39(C = 12 , H = 1) ?´¨� ��Àî B ß�Øó� üó�Øó�õ ñ�õÂê .´¨� B ß�Øó� ý�ûö�ø¤À�û
C4H6 (¢ C3H4 (� C5H8 (� C2H2 (Óó�:À��î ���� Âþ¥ ý�û�÷�ð ý�þ�Âþ¥ ßþÂ¡� ü÷øÂµØó� Çþ�¤� �� (40

A3+ : 3p6 B2− : 3p6 C3+ : 2p6 ?´¨� ´¨¤¢�÷ �¤�±ä ��Àî.¢¤�¢ 31Ga �� ´±Æ÷ ýÂ�Ç�� ýÂþÁ�Ç�î�ø C (� .´¨� Â�Ç�� 19K �� ´±Æ÷ A üó�Ú� (Óó�.À÷¤�À÷ ¤�Âì ü�ø��� ñøÀ� ¥� ùøÂð ×þ ¤¢ C ø A (¢ .¢¤�¢ ùÀ�Þ¡ ¤�µ¡�¨ H2B ñ�õÂê �� ü±�îÂ� (�(´µî� ýùÀä�ì ´þ�ä¤ ��) ?´¨� Â�Ýî �÷�ð ��Àî ¤¢ öÄ�Æî� �� ß�Âî À÷��� ñ�Ï (41
CO2−3 (¢ CO (� CO2 (� CH2O (Óó��Âð À�� ,À�Ô ó�¨ ÝþÀ¨ 0/1 M ñ�Ü½õ 0/02 L � � ��Âµ � ÷ (II)ù��� 0/01 M ñ�Ü½õ 0/05 L Ç�î�ø ¥� (42?¢�ªüõ Û�ØÈ� À�Ôó�¨ (II)ù���4/720 (¢ 1/160 (� 0/116 (� 0/471 (Óó�?¢¤�¢ ¢��ø ����¢ ø üÆ÷��ø�î ,ü÷�þ À÷��� �¨ Âû °�îÂ� ��Àî ¤¢ (43

NH4Cl (¢ SO3 (� SO2 (� NaCl (Óó�?´¨� Â�Ç�� �Þû ¥� �Î¨�ø �Üê ýùÀÈ÷ ´Ô� ý�ûöøÂµØó� ¢�Àã� Âþ¥ ý�ûö�þ ¥� ×þ ��Àî ¤¢ (44
[25Mn(H2O)6]2+ (¢ [27Co(H2O)6]2+ (� [26Fe(H2O)6]2+ (� [23V (H2O)6]2+ (Óó�ý�ûÝ�� ´�êÂÒ ý�ûöøÂµØó� ßµêÂð ÂÑ÷ ¤¢ �� ÍÖê Cl4P − (N = PCl2)3 − N = PCl3 ýÂ�¹÷¥ °�îÂ� ¤¢ (45?¢¤�¢ ¢��ø ýÀ÷����÷ íÂµÈõÂ�è ý�ûöøÂµØó� ´Ô� ¢�Àã� �� ö�øÂµ�÷ ø ÂÔÆê1 (¢ 2 (� 3 (� 4 (Óó�



?´¨� Â�×��î °�îÂ� ��Àî ¤¢ À÷��� ý�þø�¥ (46
SO2 (¢ NH3 (� BCl3 (� HCN (Óó��� áøÂª 1000C ý�õ¢ ¤¢ âþ�õ .¢�ªüõ ù¢�¢ �õÂð ©�� ý�ÎÖ÷ �� ¥��ø¤ ÂÈ� ×þ ¤¢ Ù÷¤ü� ø é�Ôª âþ�õ ×þ (47ßþ� �� ���� �� .Ý��îüõ Óì�µõ �¤ ö¢�¢ �õÂð �õ¢ ßþ� ¤¢ ;À��þüõ Çþ��ê� 1150C �� ©�� ñ�� ¤¢ ñ�Ü½õ ý�õ¢ øÀ�îüõ öÀ�ª�� ?¢Âî ÂÑ÷ ¤�úÒ� ö���üõ �÷�ð�� ÂÈ� ��þ�µ½õ«�Ê¡¤¢ �û¢�¢Éó�¡ ÂÊ�ä (¢ ´¡���ØþÂ�è ñ�Ü½õ (� Éó�¡ °�îÂ� (� ´¡���Øþ ñ�Ü½õ (Óó�×þÂÜîø¤À�û ñ�Ü½õ Âµ�óüÜ�õ 100 ø ´¨� NaOH �Âð 4 ý�¤�¢ �î 250C ý�õ¢ �� ¢�¨ ñ�Ü½õ Âµ�óüÜ�õ 100 (4831/50C �� Û¬�� ñ�Ü½õ üó¢�ã� ý�õ¢ .Ýþ�þ¤üõ Ýû ýø¤ ´��� ¤�Èê ¤¢ ´¨� HCl �Âð 3/65 ý�¤�¢ �î �¤ 250Cý�õ¢ �� À�¨� ?´¨� ��Àî ñø��Ü�î °Æ� Â� 250C ý�õ¢ ¤¢ Âþ¥ ýùÀª �÷¥��õ Ç�î�ø �� �µÆ��ø ∆H

.À¨¤üõ¤¢ 4/18 J.g−1.0C−1 �¤ ö� ýùÄþø üþ�õÂð ´�êÂÒ ø �Âð 200 �¤ ��óø� ñ�Ü½õ ø¢ ßµ¿þ¤ Ýû ýø¤ ¥� ùÀõ� ´¨¢ �� ñ�Ü½õ ö¥ø)(.¢�ªüõ ñ�Ü½õ ö¢Âî �Âð éÂ¬ Ç�î�ø ¥� Û¬�� ý�õÂð % 95 ÍÖê �î À��î ­Âê �f�Þ® .ÀþÂ�Ú� ÂÑ÷(Cl = 35/5 , Na = 23 , O = 16 , H = 1)
HCl(aq) + NaOH(aq) −→ H2O(l) + NaCl(aq)

+54/34 (¢ +57/2 (� −54/34 (� −57/2 (Óó�ý¢�¡��¢�¡ ∆S = −100 JK−1 ø ∆H = −40000 J �� üÈ�î�ø ,ßþ�Üî §��Öõ ¤¢ ùÀª ù¢�¢ ý�õ¢ ��Àî ¤¢ (49(.À��î ­Âê �õ¢ ¥� ÛÖµÆõ �¤ ∆S ø ∆H)?´¨� 500 (¢ 390 (� 410 (� 400 (Óó�(UO2(NO3)2) ��Âµ�÷ Û�÷�¤ø� ü�¤�Â� ý�þ�¹� ¥� À�Æî� ßþ� .´¨� (UO2) À�Æî�ý¢ ���÷�¤ø� ö�Þû ¢¤¥ ×�î (50?´¨� �¥� ¢¤¥ ×�î �Âð 108 ý��ú� ý�Â� ��Âµ�÷ Û�÷�¤ø� �Âð À�� .Àþ�üõ´¨¢ ��(UO2 = 270 , UO2(NO3)2 = 394)
UO2(NO3)2 ∆

−→ UO2 + 2NO2 + O2125/4 (¢ 137/6 (� 157/6 (� 255/5 (Óó�Ç�î�ø �� Ý�û¢üõ ¤�Âì �µÆ�¤¢ éÂÒ ×þ ¤¢ °¨��õ ý�õ¢ ¤¢ �¤ (Cl2) ÂÜî ¥�ð �Âð 28/4 ø (C) ß�Âî 5/6 (51?´¨� ��Àî �Âð °Æ�Â� ö� ¥� ùÀ÷�õüì�� �Â� ø üê�®� ýùÀ�û¢ Ç�î�ø .¢Â�ð �¤�¬ CCl4 −→ C + 2Cl2(Cl = 35/5 , C = 12)7/1 , ÂÜî (¢ 3/55 , ß�Âî (� 3/2 , ß�Âî (� 3/55 , ÂÜî (Óó�¢Â¨ 200C ý�õ¢ �� �¤ ´¨� ùÀª ��ú� 600C ý�õ¢ ¤¢ �î ýÀþÂÜî ���÷�õ� 450 g/L ñ�Ü½õ ¥� Âµ�óüÜ�õ 200 (52?À�îüõ ��¨¤ ñ�Ü½õ ßþ� ¥� ÀþÂÜî ���÷�õ� �Âð À�� .Ý��îüõ(.´¨� 1/5 g/mol ñ�Ü½õ üó�Ú� ø ´¨� 200C ý�õ¢ ¤¢ �� 100 g ¤¢ 37 g ÀþÂÜî ���÷�õ� ñ�½÷� ´�Ü��ì)36/8 (¢ 24/6 (� 12/3 (� 40 (Óó�À�îüõ �ó¢�±õ ¢�¡ é�ÂÏ� Í�½õ �� q � � Â��Â� üþ�õÂð ´��� Ý¹� ¤¢ �î ý��µÆ� ý�÷�õ�¨ ¢¤�õ ¤¢ ��þ�ð ��Àî (53(.À�îüõ Â��ç� �÷�õ�¨ Â� Ýî�� ¤�Èê) ?´¨� ´¨¤¢
∆E = q (¢ ∆E < q (� ∆E > q (� ∆H = q (Óó�



. . . . . . ´¨� üÈ�î�ø ∆S > 0 ø ∆H < 0 �� Ç�î�ø ×þ (54¢�¡��¢�¡ Â�è (� üÞÑ÷ü� ¥� Àä�Æõ�÷ Â���� �� ù�ÂÞû (Óó�¢�¡��¢�¡ (¢ Â�ð�õÂð (�¢�¥� öÄ �Æî� ¤¢ (CH4) ¥�ð ´ó�� � � ö� µ õ �Âð 3/2 ßµ¡�¨ ¥� ´�� � ¤�Èê ø � õ¢ ¤¢ � õÂð ñø��Ü � î 161/6 (55?´¨� ��Àî ñø��Ü�î °Æ�Â� ùÀª ù¢�¢ Íþ�Âª ¤¢ ö�µõ ßµ¡�¨ ýùÀª �÷¥��õ ý�ó¢�ãõ �� �µÆ��ø ∆H .¢�ªüõ(C = 12 , H = 1)
CH4(g) + 2O2(g) −→ CO2(g) + 2H2O(g) : ∆H =?

−404 (¢ +404 (� +808 (� −808 (Óó��õÂð ñø� À�� .´¨� 2/46 J.g−1.0C−1 �� Â��Â� (¾þ À® ö���ä ��) âþ�õ ñ�Ø�Üð ßÜ��� ýùÄþø üþ�õÂð ´�êÂÒ (56?´¨� �¥� 350C �� 250C ý�õ¢ ¥� ö� ¥� �Âð 100 ö¢Âî �Âð ý�Â�1230 (¢ 2460 (� 246 (� 24/6 (Óó�
% 95 �î CaH2 �Âð 442/11Ç�î�ø ¥� (1 atm ø 00C) ¢¤�À÷�µ¨� ¤�Èê ø �õ¢ ý�¤�¢ ö�ø¤À�û ¥�ð Âµ�ó À�� (57?¢�ªüõ Û¬�� �¥� ¤�ÀÖõ �� �� �� ´¨� Éó�¡ üõÂ�(H = 1 , Ca = 40) (.´¨� Âµ�ó 22/4 �� Â��Â� ¢¤�À÷�µ¨� ¤�Èê ø �õ¢ ¤¢ ö�ø¤À�û ¥�ð ñ�õ 1 Ý¹�)

CaH2 + 2H2O −→ Ca(OH)2 + 2H2(g)448 (¢ 471/6 (� 224 (� 56/3 (Óó�ßØó� ßþ� üó�Øó�õ ñ�õÂê .´¨� Âµ�óüÜ�õ Â� �ÂðüÜ�õ 3/125 ,üê¤�ãµõ Íþ�Âª ¤¢ ý¥�ð ßØó� ×þ üÞ¹� ö¥ø (58?´¨� ��Àî(C = 12 , H = 1)
C3H6 (¢ C5H10 (� C2H4 (� C4H8 (Óó��Á� ö�ø¤À�û B ö�Øó� ý�ûö�ø¤À�û ö¥ø % 20 .¢�ªüõ ÛþÀ±� B ö�Øó� �� ö�ø¤À�û �� Ç�î�ø Â��Â� A ßØó� (59?´¨� ��Àî A ßØó� .´¨� ùÀª(C = 12 , H = 1)
C4H8 (¢ C3H6 (� C2H4 (� C5H10 (Óó�?Àª�� ÝÑµ�õ üú�ø¤�ú� À÷���üÞ÷ üþ��Þ�ª ý�÷�ð ��Àî üþ�Ìê ÛØª VSEPR ý�þÂÑ÷ §�¨� Â� (60

BeF2−4 (¢ SF4 (� PCl+4 (� NH+4 (Óó�




